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1. Judicial supremacy is the characteristic of

which country ?

(A) Britain

(B) U.S.A.

(C) Both (A) and (B)

(D) None of these

2. 'Filibuster' refers to :

(A) Freedom for absence

(B) Freedom for limited speech

(C) Freedom for unlimited speech

(D) None of these

3. "Third Chamber of the American

Congress" is well known as :

(A) Speaker

(B) Vice-President

(C) Supreme Court

(D) Political Party

4. Who said it, "The American Constitutional

System would have become a hydra-

headed monstrosity of forty-eight rival

states."?

(A) Finer

(B) Munro

(C) Lenin

(D) Wheare

5. "The stone which the builders rejected,

became the chief stone of the corner"-

This statement is related to :

(A) Political Party

(B) Supreme Court

(C) Convention

(D) Collective responsibility

1. U;kf;d loksZPprk fdl ns'k dh fo'ks"krk gS \

(A) fczVsu dh

(B) la;qDr jkT; vesfjdk dh

(C) nksuksa (A) vkSj (B) dh

(D) buesa ls dksbZ ugha

2. ^fQfycLVj* ls rkRi;Z gS %

(A) vuqifLFkfr dh LorU=rk

(B) lhfer cksyus dh LorU=rk

(C) vlhfer cksyus dh LorU=rk

(D) buesa ls dksbZ ugha

3. ^^vesfjdh dkaxzsl ds r̀rh; lnu** ds :i esa

tkuk tkrk gS %

(A) lHkkifr dks

(B) mijk"Vªifr dks

(C) loksZPp U;k;ky; dks

(D) jktuhfrd ny dks

4. ;g fdlus dgk] ̂ ^loksZPp U;k;ky; ds vHkko esa

vejhdh la?k dh bdkb;k¡ vusd eq¡g okys nSR;ksa

dk :i xzg.k dj laoS/kkfud O;oLFkk dks lekIr

dj nsaxhA**\

(A) Qkbuj

(B) equjks

(C) ysfuu

(D) Ogh;j

5. ^^lafo/kku fuekZrkvksa us ftl f'kyk dks vLohd̀r
dj fn;k Fkk] og vkt vejhdh 'kklu i)fr
dk ewy vk/kkj cu x;h gSA** & ;g dFku
lEcfU/kr gS %
(A) jktuhfrd ny ls
(B) loksZPp U;k;ky; ls
(C) vfHkle; ls

(D) lkewfgd mRrjnkf;Ro ls
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6. In which decade did the Cultural

Revolution take place ?

(A) 1955 - 1965

(B) 1966 - 1976

(C) 1976 - 1986

(D) 1986 - 1996

7. Which legislature has the highest number

of representatives ?

(A) National People's Congress of

China

(B) Parliament of India

(C) Parliament of Britain

(D) U.S. Congress

8. When was the People's Republic of China

established by the Communist Party of

China ?

(A) 1912 (B) 1942

(C) 1949 (D) 1966

9. It is very difficult to differentiate between

government and party in :

(A) U.S.A. (B) France

(C) China (D) India

10. Importance of which party was written in

the Constitutional Preamble of China ?

(A) Federal Party

(B) Congress Party

(C) Jansatta Party

(D) Communist Party

11. Which of the following pair is not correct?

      List - I            List - II

(A) China Multi-party system

(B) U.S.A. Two-party system

(C) U.K. Two-party system

(D) India Multi-party system

6. lkaLd`frd Økafr fdl n'kd esa gqbZ Fkh \

(A) 1955 - 1965

(B) 1966 - 1976

(C) 1976 - 1986

(D) 1986 - 1996

7. fdl fo/kkf;dk esa lcls vf/kd izfrfuf/k gSa \

(A) phu dh jk"Vªh; tuoknh dkaxzsl

(B) Hkkjr dh laln

(C) fczVsu dh laln

(D) ;w-,l- dkaxszl

8. phu dh dE;qfuLV ikVhZ }kjk phuh tuoknh

x.kjkT; dh LFkkiuk dc dh xbZ Fkh \

(A) 1912 (B) 1942

(C) 1949 (D) 1966

9. ljdkj vkSj ny esa vUrj djuk csgn dfBu

gS %

(A) ;w-,l-,- esa (B) Ýkal esa

(C) phu esa (D) Hkkjr esa

10. phuh lafo/kku dh izLrkouk esa fdl ny ds egRo

ds ckjs esa fy[kk x;k Fkk \

(A) la?koknh ny

(B) dkaxzsl ny

(C) tulRrk ny

(D) lkE;oknh ny

11. fuEu esa ls dkSu&lk ;qXe lqesfyr ugha gS \

   lwph&I         lwph&II

(A) phu cgq&nyh; O;oLFkk

(B) ;w-,l-,- f}&nyh; O;oLFkk

(C) ;w-ds- f}&nyh; O;oLFkk

(D) Hkkjr cgq&nyh; O;oLFkk
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12. How were the Fundamental Rights added

into the US Constitution ?

(A) By first 6 amendments

(B) By first 10 amendments

(C) By last 10 amendments

(D) None of the above

13. The number of the Electoral College for

the U.S. President is :

(A) 538

(B) 438

(C) 338

(D) 100

14. Which one of the following statements

regarding the constitutional power of the

President of America is incorrect ?

(A) To maintain diplomatic relations

with foreign states

(B) To negotiate treaty with foreign

states

(C) Proposing American diplomats to

foreign states.

(D) To declare war

15. How many colonies/states were there in

U.S.A. at the time of independence ?

(A) 11

(B) 12

(C) 13

(D) 50

12. vesfjdh lafo/kku esa ekSfyd vf/kdkjksa dks dSls

tksM+k x;k \

(A) igys 6 la'kks/kuksa }kjk

(B) igys 10 la'kks/kuksa }kjk

(C) vfUre 10 la'kks/kuksa }kjk

(D) mi;qZDr esa ls dksbZ ugha

13. vesfjdh jk"Vªifr ds fy, bysDVksjy dkWyst dh

la[;k gS %

(A) 538

(B) 438

(C) 338

(D) 100

14. vesfjdk ds jk"Vªifr dh laoS/kkfud 'kfDr;ksa ls

lEcfU/kr fuEufyf[kr oDrO;ksa esa ls dkSu xyr

gS \

(A) fons'kh jkT;ks a ds lkFk dwVuhfrd

lEcU/k cukuk

(B) fons'kh jkT;ksa ds lkFk lfU/k okrkZ djuk

(C) fons'kh jkT;ksa ds fy, vesfjdh jktuf;dksa

dks izLrkfor djuk

(D) ;q) dh ?kks"k.kk djuk

15. LorU=rk ds le; la;qDr jkT; vesfjdk esa

fdrus mifuos'k@jkT; Fks \

(A) 11

(B) 12

(C) 13

(D) 50
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16. How many members are there in Senate?

(A) 50

(B) 100

(C) 200

(D) 250

17. Which political party does the current

U.S. President Joe Biden belong to ?

(A) Republican Party

(B) Labour Party

(C) Democratic Party

(D) Communist Party

18. "The political system of China is at once

democratic and centralised, that is

centralised on the basis of democracy and

democratic under centralised guidance"

- who said this ?

(A) Laski

(B) Finer

(C) Hinton

(D) Mao

19. Who is considered as the founder of

Modern China ?

(A) San-Yat-Sen

(B) Lenin

(C) Mao-Tse-Tung

(D) None of these

20. Present Constitution of China was

enforced in :

(A) 1900

(B) 1919

(C) 1982

(D) 1999

16. lhusV dh lnL; la[;k fdruh gS \

(A) 50

(B) 100

(C) 200

(D) 250

17. orZeku vesfjdh jk"Vªifr tks ckbMu fdl

jktuhfrd ny ls vkrs gSa\

(A) fjifCydu ikVhZ

(B) yscj ikVhZ

(C) MseksØsfVd ikVhZ

(D) dE;wfuLV ikVhZ

18. ^^phu dh jktuhfrd O;oLFkk ,d gh lkFk yksdrkfU=d

Hkh gS vkSj dsUnzoknh HkhA ;g yksdrU= ds vk/kkj

ij dsUnzoknh gS vkSj dsUnzoknh funsZ'ku ds vUrxZr

yksdrkfU=d gSA**&;g dFku fdldk gS\

(A) ykLdh

(B) Qkbuj

(C) fg.Vu

(D) ekvks

19. vk/kqfud phu dk laLFkkid fdls ekuk tkrk gS \

(A) lu~&;kr~&lsu

(B) ysfuu

(C) ekvks&Rls&rqax

(D) buesa ls dksbZ ugha

20. phu dk orZeku lafo/kku ykxw gqvk %

(A) 1900 esa

(B) 1919 esa

(C) 1982 esa

(D) 1999 esa
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21. American Constitution was adopted in

which convention ?

(A) Philadelphia Convention, 1776

(B) Philadelphia Convention, 1879

(C) Washington Convention, 1789

(D) Philadelphia Convention, 1789

22. In U.S.A. for how many terms a person

can be elected as President ?

(A) One term

(B) Two term

(C) Three term

(D) Any number of term

23. Which is not a characteristic of U.S.

Government System ?

(A) Division of Powers

(B) Presidential form of Government

(C) Unified Judicial System

(D) Federal form of Government

24. The right of judicial review in the United

States of America is :

(A) Enunciated in the Constitution

(B) Derived from judicial decisions

(C) Inherent in the nature of judicial

work

(D) The product of operation of the

principle of rule of law

25. The Supreme Court of the United States

of America first exercised its judicial

review power :

(A) In the year 1910

(B) In the year 1890

(C) In the year 1860

(D) In the year 1803

21. vesfjdh lafo/kku dks fdl lEesyu esa viuk;k

x;k Fkk \

(A) fQykMsfYQ;k lEesyu] 1776

(B) fQykMsfYQ;k lEesyu] 1879

(C) okf'kaxVu lEesyu] 1789

(D) fQykMsfYQ;k lEesyu] 1789

22. la;qDr jkT; vesfjdk esa] ,d O;fDr dks fdrus
dk;Zdky ds fy, jk"Vªifr ds :i esa pquk tk
ldrk gS \
(A) ,d dk;Zdky
(B) nks dk;Zdky
(C) rhu dk;Zdky

(D) dk;Zdky dh dksbZ Hkh la[;k

23. dkSu&lh vesfjdh 'kklu iz.kkyh dh fo'ks"krk ugha

gS \

(A) 'kfDr;ksa dk foHkktu

(B) v/;{kkRed 'kklu iz.kkyh

(C) ,dhd`r U;kf;d O;oLFkk

(D) la?kkRed 'kklu iz.kkyh

24. la;qDr jkT; vesfjdk esa U;kf;d iqufuZjh{k.k dk

vf/kdkj %

(A) lafo/kku esa izfrikfnr gS

(B) U;kf;d fu.kZ;ksa ls O;qRiUu fd;k x;k gS

(C) U;kf;d dk;Z dh izd`fr esa vUrfuZfgr

gS

(D) fof/k ds 'kklu ds fl)kUr dh lafØ;k

dk izfrQy gS

25. la;qDr jkT; vesfjdk ds loksZPp U;k;ky; us

viuh U;kf;d iqujkoyksdu 'kfDr dk loZizFke

iz;ksx fd;k Fkk %

(A) lu~ 1910 esa

(B) lu~ 1890 esa

(C) lu~ 1860 esa

(D) lu~ 1803 esa

[P.T.O.]
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26. Who said it, "No allegation of partiality

or corruption or political influence is over

made against British Judges."?

(A) Jennings

(B) Denning

(C) Finer

(D) Lord Bryce

27. Who said it, "The British Government

begins and ends with parties."?

(A) Jennings

(B) Mackintosh

(C) Finer

(D) Garner

28. Which constitution is written ?

(A) British

(B) American

(C) Both (A) and (B)

(D) None of these

29. United States of America believes in :

(A) Gandhism

(B) Communism

(C) Secularism

(D) Anarchism

30. "The Principle of Enumeration and

Residuum" in the Division of Power of

the American Federal System is related

to :

(A) Rights to Congress

(B) Rights of the state

(C) Bureaucratic functions

(D) Distribution of powers between

the Union and the states

26. ;g fdlus dgk & ^^fczfV'k U;k;k/kh'kksa ds fo#)

dHkh Hkh i{kikr] Hkz"Vkpkj ;k jktuhfrd izHkko

dk vkjksi ugha yxk;k tkrkA**\

(A) tSfuaXl

(B) MSfuax

(C) Qkbuj

(D) ykWMZ czkbl

27. ;g fdlus dgk] ^^fczfV'k 'kklu jktuhfrd nyksa
ls gh izkjEHk gksrk gS vkSj jktuhfrd ny esa gh

lekIr gks tkrk gSA**\
(A) tSfuaXl
(B) eSfdUrks"k
(C) Qkbuj

(D) xkuZj

28. dkSu&lk lafo/kku fyf[kr gS \

(A) fczfV'k

(B) vesfjdh

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

29. la;qDr jkT; vesfjdk fo'okl djrk gS %

(A) xk¡/khokn esa

(B) lkE;okn esa

(C) /keZfujis{krk esa

(D) vjktdrkokn esa

30. vesfjdh la?kh; O;oLFkk ds 'kfDr foHkktu esa

^x.kuk o vo'ks"k* dk fl)kUr lEcfU/kr gS %

(A) dkaxzsl ds vf/kdkjksa ls

(B) jkT; ds vf/kdkjksa ls

(C) ukSdj'kkgh ds dk;ksZa ls

(D) la?k rFkk jkT;ksa ds chp 'kfDr;ksa ds

forj.k ls
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31. Which one of the following is not

associated with Chinese Constitution ?

(A) The People's Republic

(B) The Central Military Commission

(C) Spirituality

(D) Fundamental Rights

32. What is the minimum age prescribed for

the post of the Chinese President ?

(A) 45 years

(B) 35 years

(C) 25 years

(D) 21 years

33. The President of China is elected by the :

(A) Citizens

(B) People's

(C) People's Court

(D) The National People's Congress

34. The term of the National People's

Congress according to present Chinese

Constitution is :

(A) 6  years

(B) 5  years

(C) 4  years

(D) 2  years

35. The members of National People's

Congress are called :

(A) M.L.A.

(B) Deputy

(C) M.P.

(D) Procurator

31. fuEufyf[kr esa ls dkSu&lk ,d phuh lafo/kku esa

ugha vkrk gS \

(A) tuoknh x.krU=

(B) dsUnzh; lSfud vk;ksx

(C) vk/;kfRedrk

(D) ekSfyd vf/kdkj

32. phu dk jk"Vªifr cuus ds fy, de&ls&de

fdruh mez gksuh pkfg, \

(A) 45 o"kZ

(B) 35 o"kZ

(C) 25 o"kZ

(D) 21 o"kZ

33. phuh jk"Vªifr pquk tkrk gS %

(A) ukxfjdksa }kjk

(B) turk }kjk

(C) tuoknh U;k;ky; }kjk

(D) jk"Vªh; tuoknh dkaxzsl }kjk

34. phu ds orZeku lafo/kku ds vuqlkj jk"Vªh;

tuoknh dkaxzsl dk dk;Zdky gS %

(A) 6 o"kZ

(B) 5 o"kZ

(C) 4 o"kZ

(D) 2 o"kZ

35. jk"Vªh; tuoknh dkaxzsl ds lnL;ksa dks dgk tkrk

gS %

(A) fo/kk;d

(B) fMIVh

(C) lkaln

(D) izksD;wjsVj
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36. 'The theory of Separation of Powers' has

been practiced in :

(A) Swiss Constitution

(B) American Constitution

(C) Chinese Constitution

(D) British Constitution

37. Which of the following is not feature of

American Constitution ?

(A) Parliamentary Government

(B) Presidential Government

(C) Supremacy of the Constitution

(D) Rigid Constitution

38. Which amongst the following is not base

of economic system of U.S.A. ?

(A) Capitalism

(B) Welfare state

(C) The Theory of Trusteeship

(D) Laissez Faire

39. Who is the Vice-President of America at

present ?

(A) Hillary Clinton

(B) Ivanka Trump

(C) Kamala Harris

(D) Joe Biden

40. How many amendments have been made

in the US Constitution ?

(A) 10

(B) 27

(C) 30

(D) 36

36. ^'kfDr&i`FkDdj.k fl)kUr* dks O;ogkj esa yk;k

x;k %

(A) fLoV~tjyS.M ds lafo/kku esa

(B) vesfjdh lafo/kku esa

(C) phu ds lafo/kku esa

(D) fczfV'k lafo/kku esa

37. fuEufyf[kr esa ls dkSu ,d vesfjdh lafo/kku dh

fo'ks"krk ugha gS \

(A) lalnkRed 'kklu

(B) v/;{kkRed 'kklu

(C) lafo/kku dh loksZPprk

(D) dBksj lafo/kku

38. fuEufyf[kr esa ls dkSu&lk ,d la;qDr jkT;

vesfjdk dh vkfFkZd O;oLFkk dk vk/kkj ugha gS\

(A) iw¡thokn

(B) yksd dY;k.kdkjh jkT;

(C) U;kflrk dk fl)kUr

(D) vgLr{ksi dk fl)kUr

39. orZeku esa vesfjdk ds mi&jk"Vªifr dkSu gSa\

(A) fgysjh fDyaVu

(B) bokadk Vªai

(C) deyk gSfjl

(D) tks ckbMu

40. vesfjdh lafo/kku esa fdrus la'kks/ku fd, x, gSa\

(A) 10

(B) 27

(C) 30

(D) 36
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41. Which Article of Chinese Constitution

requests the protection of Human Rights?

(A) Article - 29

(B) Article - 30

(C) Article - 32

(D) Article - 33

42. Which Article gives the rights of Chinese

people to right to work ?

(A) Article 42

(B) Article 45

(C) Article 48

(D) Article 50

43. According to Article 2 of Chinese

Constitution all power in the People's

Republic of China belong to .....

(A) The President

(B) The People's Court

(C) The People

(D) All of the above

44. Which of the following countries has

unicameral legislature ?

(A) U.S.A.

(B) U.K.

(C) India

(D) China

45. Who nominates the Prime Minister of

China ?

(A) State Council

(B) President

(C) National People's Congress

(D) None of these

41. phuh lafo/kku ds fdl vuqPNsn esa ekuokf/kdkj

laj{k.k dk vuqjks/k fd;k x;k gS \

(A) vuqPNsn & 29

(B) vuqPNsn & 30

(C) vuqPNsn & 32

(D) vuqPNsn & 33

42. fdl vuqPNsn ds rgr phuh ukxfjdksa dks dke

dk vf/kdkj iznku fd;k x;k gS \

(A) vuqPNsn 42

(B) vuqPNsn 45

(C) vuqPNsn 48

(D) vuqPNsn 50

43. phuh lafo/kku ds vuqPNsn 2 ds vuqlkj phu ds

tuoknh x.krU= esa lEiw.kZ lRrk ------ esa fufgr

gSA

(A) jk"Vªifr

(B) tuoknh U;k;ky;

(C) turk

(D) mi;qZDr lHkh

44. fuEufyf[kr esa ls fdl ns'k esa ,d&lnuh;

fo/kkf;dk gS \

(A) ;w-,l-,-

(B) ;w-ds-

(C) Hkkjr

(D) phu

45. phu ds iz/kkuea=h dks dkSu ukfer djrk gS \

(A) jkT; ifj"kn

(B) jk"Vªifr

(C) jk"Vªh; tuoknh dkaxzsl

(D) buesa ls dksbZ ugha

[P.T.O.]
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46. Nigeria was a colony of which country ?

(A) Britain (B) France

(C) Spain (D) Portugal

47. When did Nigeria gain independence ?

(A) 1950 (B) 1960

(C) 1970 (D) 1980

48. How many members are elected from

each state to the Senate of Nigeria ?

(A) 1 (B) 3

(C) 4 (D) 5

49. What is the total number of members in

the Lower House of Nigeria ?

(A) 360 (B) 370

(C) 380 (D) None of these

50. The quorum of the Houses of Nigeria is :

(A)
1

3
 of all members

(B)
1

4
 of all members

(C)
1

10
 of all members

(D) None of these

51. What is the total number of members in

the Senate of Nigeria ?

(A) 100 (B) 105

(C) 109 (D) 110

52. Who was the first President of Republic

of Nigeria ?

(A) Nnamdi Azikiwe

(B) Muhammadu Buhari

(C) Abubakar Tafawa Balewa

(D) None of these

46. ukbthfj;k fdl ns'k dk ,d mifuos'k Fkk \

(A) fczVsu (B) Ýkal

(C) Lisu (D) iqrZxky

47. ukbthfj;k dks LorU=rk dc feyh \

(A) 1950 (B) 1960

(C) 1970 (D) 1980

48. ukbthfj;k dh lhusV ds fy, izR;sd jkT; ls

fdrus lnL; pqus tkrs gSa \

(A) 1 (B) 3

(C) 4 (D) 5

49. ukbthfj;k ds fupys lnu esa lnL;ksa dh dqy

la[;k fdruh gS \

(A) 360 (B) 370

(C) 380 (D) buesa ls dksbZ ugha

50. ukbthfj;k ds lnuksa dh x.kiwfrZ gS %

(A) lHkh lnL;ksa dk 
1

3

(B) lHkh lnL;ksa dk  
1

4

(C) lHkh lnL;ksa dk 
1

10

(D) buesa ls dksbZ ugha

51. ukbthfj;k dh lhusV esa lnL;ksa dh dqy la[;k

fdruh gS \

(A) 100 (B) 105

(C) 109 (D) 110

52. ukbthfj;k x.kjkT; ds igys jk"Vªifr dkSu

Fks \

(A) uenh vft+dhos

(B) eqgEenq cqgkjh

(C) vcqcdj rQok ckysok

(D) buesa ls dksbZ ugha
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53. The feature of Federal form of

Government is :

(A) Dual citizenship

(B) Separation of Powers

(C) Co-operation between National

integrity and Local Self  Govt.

(D) All of the above

54. Federal government is useful in :

(A) Communist states

(B) Small states

(C) Big states

(D) None of these

55. Which one is not included in a federal

government ?

(A) Division of Powers

(B) Supremacy of the Constitution

(C) Single Citizenship

(D) Written Constitution

56. In federal government, the powers are

divided between the center and the state

by _____.

(A) The Parliament

(B) The Constitution

(C) The Central Government

(D) Judiciary

57. Which institution in a federal system is

called 'Balancing Wheel of the

Constitution ?'

(A) Press

(B) Legislature

(C) Executive

(D) Judiciary

53. la?kkRed 'kklu dh fo'ks"krk gS %

(A) nksgjh ukxfjdrk

(B) 'kfDr;ksa dk foHkktu

(C) jk"Vªh; ,drk vkSj LFkkuh; Lo'kklu esa

lkeatL;

(D) mi;qZDr lHkh

54. la?kh; 'kklu ykHkdkjh gS %

(A) lkE;oknh jkT;ksa esa

(B) NksVs jkT;ksa esa

(C) cM+s jkT;ksa esa

(D) buesa ls dksbZ ugha

55. la?kkRed 'kklu esa dkSu ,d 'kkfey ugha

gS \

(A) 'kfDr foHkktu

(B) lafo/kku dh loksZPprk

(C) ,dy ukxfjdrk

(D) fyf[kr lafo/kku

56. ,d la?kh; ljdkj esa 'kfDr;ksa dks dsUnz ,oa jkT;

ds e/; _____ }kjk foHkkftr fd;k tkrk gSA

(A) laln

(B) lafo/kku

(C) dsUnz ljdkj

(D) U;k;ikfydk

57. la?kkRed 'kklu O;oLFkk esa fdl laLFkk dks

^lafo/kku dk larqyu pØ* dgk tkrk gS \

(A) izsl

(B) O;oLFkkfidk

(C) dk;Zikfydk

(D) U;k;ikfydk

[P.T.O.]
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58. Which of the following countries does not

have a written constitution ?

(A) U.S.A.

(B) England

(C) China

(D) Nigeria

59. Who said that, "There is no constitution

in England"?

(A) Montesquieu

(B) D. Tocqueville

(C) J.S. Mill

(D) Laski

60. Which country is associated with this

famous statement- "The king can do no

wrong"?

(A) India

(B) Pakistan

(C) China

(D) England

61. In which year was the Magna-Carta

signed?

(A) 1150

(B) 1190

(C) 1201

(D) 1215

62. Which one is the best example of

Parliamentary supremacy ?

(A) India

(B) U.S.A.

(C) Britain

(D) China

58. fuEufyf[kr esa ls fdl ns'k dk fyf[kr lafo/kku

ugha gS \

(A) la;qDr jkT; vesfjdk

(B) baXyS.M

(C) phu

(D) ukbthfj;k

59. ;g fdlus dgk fd] ^^baXyS.M esa dksbZ lafo/kku

ugha gS**\

(A) ekWUVsLD;w

(B) Mh- VkWdfoys

(C) ts- ,l- fey

(D) ykLdh

60. izfl) mfDr] ̂ ^lezkV dksbZ =qfV ugha dj ldrk**

fdl ns'k ls lEcfU/kr gS \

(A) Hkkjr

(B) ikfdLrku

(C) phu

(D) baXyS.M

61. eSXukdkVkZ ij fdl o"kZ esa gLrk{kj fd;k

x;k \

(A) 1150

(B) 1190

(C) 1201

(D) 1215

62. lalnh; loksZPprk dk lcls vPNk mnkgj.k

dkSu&lk gS \

(A) Hkkjr

(B) la;qDr jkT; vesfjdk

(C) fczVsu

(D) phu
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63. The power of separation between

Executive and Legislature is a

characteristic of :

(A) Polyarchy

(B) Unitary form of Govt.

(C) Parliamentary form of Govt.

(D) Presidential form of Govt.

64. Members of the Cabinet under the

presidential form of Government :

(A) Elected to the both houses of the

legislature

(B) Elected to the popular house

(C) Not a member of either house

(D) None of these

65. In which system by giving a permanent

executive independent of the legislature

insured stability ?

(A) Parliamentary

(B) Dictatorship

(C) Presidential

(D) All of the above

66. One of the important merit of Presidential

system is :

(A) Accountability

(B) Stability

(C) Both of the above

(D) None of the above

67. Presidential form of Government is

practiced in :

(A) Britain

(B) U.S.A.

(C) India

(D) Britain and U.S.A.

63. dk;Zikfydk vkSj O;oLFkkfidk ds chp 'kfDr

iF̀kDdj.k ,d fo'ks"krk gS %

(A) cgqyrU= dh

(B) ,dkRed 'kklu O;oLFkk dh

(C) lalnkRed 'kklu O;oLFkk dh

(D) v/;{kkRed 'kklu O;oLFkk dh

64. v/;{kkRed 'kklu O;oLFkk ds vUrxZr efU=e.My

ds lnL; %

(A) O;oLFkkfidk ds nksuksa lnuksa ls pqus tkrs

gSa

(B) yksdfiz; lnu ls pqus tkrs gaS

(C) fdlh Hkh lnu ds lnL; ugha gksrs

(D) buesa ls dksbZ ugha

65. fdl 'kklu O;oLFkk esa O;oLFkkfidk ds fu;U=.k

ls LorU= LFkk;h dk;Zikfydk dh O;oLFkk gksrh gS\

(A) lalnkRed

(B) vf/kuk;d rU=

(C) v/;{kkRed

(D) mi;qZDr lHkh

66. v/;{kh; 'kklu O;oLFkk dk ,d izeq[k xq.k

gS %

(A) mRrjnkf;Ro

(B) LFkkf;Ro

(C) mi;qZDr nksuksa

(D) mi;qZDr esa ls dksbZ ugha

67. v/;{kkRed 'kklu iz.kkyh ik;h tkrh gS %

(A) fczVsu esa

(B) vesfjdk esa

(C) Hkkjr esa

(D) fczVsu ,oa vesfjdk esa
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68. Merit of Unitary Government is :

(A) Single Administration

(B) Strong Government

(C) Suitable for small state

(D) All of the above

69. All the power of government centralized

in center. In which form of Government

is so?

(A) Unitary form of Government

(B) Federal form of Government

(C) Both (A) and (B)

(D) None of these

70. England is a :

(A) Quasi-Federal state

(B) Federal state

(C) Unitary state

(D) Polyarchy state

71. Unitary form of government is good

because :

(A) It has one center for control

(B) It has many centers for control

(C) It has few centers for control

(D) It has no authority

72. Who has given the definition of the federal

government in this way-

"A federal state is nothing but a political

contrivance intended to reconcile national

unity with the maintenance of state

rights."? 

(A) Finer

(B) Garner

(C) Lowell

(D) Dicey

68. ,dkRed 'kklu dk xq.k gS %

(A) iz'kklu esa ,drk

(B) 'kfDr lEiUu ljdkj

(C) NksVs ns'kksa ds fy, mi;qDr

(D) mi;qZDr lHkh

69. 'kklu dh leLr 'kfDr;k¡ dsUnz esa fufgr gksrh gSaA

,slk fdl 'kklu O;oLFkk esa gS \

(A) ,dkRed 'kklu O;oLFkk

(B) la?kkRed 'kklu O;oLFkk

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

70. baXyS.M ,d %

(A) v)Z&la?kh; ns'k gS

(B) la?kh; ns'k gS

(C) ,dkRed jkT; gS

(D) cgqyrU=h; jkT; gS

71. ,dkRed 'kklu O;oLFkk vPNh gS] D;ksafd %

(A) blesa fu;U=.k ds fy, ,d dsUnz gksrk
gS

(B) blesa fu;U=.k ds fy, vusd dsUnz gksrs
gSa

(C) blesa fu;a=.k ds fy, dqN dsUnz gksrs gaS

(D) blesa dksbZ lRrk ugha gksrh gS

72. fdlus la?kkRed ljdkj dh ifjHkk"kk bl izdkj

nh gS &

^^,d la?kkRed jkT; ,d ,sls jktuhfrd mik;
ds vfrfjDr dqN ugha gS] ftldk mn~ns';
jk"Vªh; ,drk rFkk jkT; ds vf/kdkjksa esa esy
j[krk gSA**\
(A) Qkbuj
(B) xkuZj
(C) ykWosy

(D) Mk;lh
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73. Who said it, "Parliamentary system

provides a daily as well as a periodic

assessment of the government.’’ ?

(A) Dr. Ambedkar

(B) Laski

(C) Garner

(D) Dicey

74. The most important feature of a

Parliamentary Government is :

(A) Rule of Law

(B) Rule of Majority

(C) Accountability of Executive

towards Legislature

(D) None of these

75. The successful working of Parliamentary

Government depends upon :

(A) One-party system

(B) Two-party system

(C) Multi-party system

(D) Partyless system

76. Titular Executive is related with :

(A) Parliamentary form of

Government

(B) Presidential form of Government

(C) Communist form of Government

(D) None of these

77. In which government system, Legislature

and Executive are complementary to each

other ?

(A) Federal System

(B) Unitary System

(C) Presidential System

(D) Parliamentary System

73. ;g dFku fdldk gS & ^^lalnkRed O;oLFkk
'kklu ds lkef;d ewY;kadu ds lkFk&lkFk
fnu&izfrfnu ds ewY;kadu dk Hkh volj iznku
djrh gSA**\
(A) MkW- vEcsMdj
(B) ykLdh
(C) xkuZj

(D) Mk;lh

74. lalnh; ljdkj dk lcls egRoiw.kZ y{k.k

gS %

(A) fof/k dk 'kklu

(B) cgqer dk 'kklu

(C) dk;Zikfydk dk fo/kkf;dk ds izfr

mRrjnkf;Ro

(D) buesa ls dksbZ ugha

75. lalnh; ljdkj dk lQyrkiwoZd dk;Z djuk

fuHkZj djrk gS %

(A) ,dnyh; O;oLFkk ij

(B) f}nyh; O;oLFkk ij

(C) cgqnyh; O;oLFkk ij

(D) ny&foghu O;oLFkk ij

76. ukeek= dh dk;Zikfydk dk lEcU/k gS %

(A) lalnh; 'kklu O;oLFkk ls

(B) v/;{kkRed 'kklu O;oLFkk ls

(C) lkE;oknh 'kklu O;oLFkk ls

(D) buesa ls dksbZ ugha

77. fdl 'kklu iz.kkyh esa O;oLFkkfidk rFkk dk;Zikfydk

ijLij ,d&nwljs ls lEcfU/kr gksrh gSa\

(A) la?kkRed O;oLFkk esa

(B) ,dkRed O;oLFkk esa

(C) v/;{kkRed O;oLFkk esa

(D) lalnkRed O;oLFkk esa
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78. Who was the propounder of the doctrine

of Separation of Power ?

(A) Montesquieu

(B) Marx

(C) Hegel

(D) Green

79. Which of the following is a feature of

American Constitution ?

(A) Presidential form of Government

(B) Parliamentary form of

Government

(C) Unitary form of Government

(D) All of the above

80. The basis of classification of parliamentary

and presidential governments is :

(A) The relation between the center

and the states

(B) The relation of legislature and

executive

(C) The relation of executive and

judiciary

(D) All of the above

81. Who defined Unitary Government as -

"Unitary government is the habitually

exercise of supreme legislative authority

by one central power.’’ ?

(A) Jennings

(B) Garner

(C) Lowell

(D) Dicey

78. ^'kfDr i`FkDdj.k* fl)kUr dk izfriknd dkSu

Fkk \

(A) ekWUVsLD;w

(B) ekDlZ

(C) ghxy

(D) xzhu

79. fuEufyf[kr esa ls dkSu ,d vesfjdh lafo/kku dh

fo'ks"krk gS \

(A) v/;{kkRed 'kklu O;oLFkk

(B) lalnkRed 'kklu O;oLFkk

(C) ,dkRed 'kklu O;oLFkk

(D) mi;qZDr lHkh

80. lalnkRed rFkk v/;{kkRed ljdkjksa ds oxhZdj.k

dk vk/kkj gS %

(A) dsUnz vkSj jkT;ksa ds chp dk lEcU/k

(B) fo/kkf;dk vk Sj dk; Zikfydk dk

lEcU/k

(C) dk;Zikfydk vkSj U;k;ikfydk dk

lEcU/k

(D) mijksDr lHkh

81. fdlus ,dkRed 'kklu dks ,sls ifjHkkf"kr fd;k

gS & ^^,d dsUnzh; 'kfDr }kjk loksZPp 'kfDr dk

iz;ksx fd;k tkuk gh ,dkRed 'kklu gSs**\

(A) tSfuXal

(B) xkuZj

(C) ykWosy

(D) Mk;lh
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82. In the systems of the following

governments, bicameralism is an essential

feature of which one system of

governance?

(A) Presidential system

(B) Parliamentary system

(C) Federal system

(D) Unitary system

83. "There is apoplexy at the centre and

anaemia at the extremities." Whose

statement is this ?

(A) Jennings

(B) Finer

(C) Ward

(D) Austin

84. India is a :

(A) Federal state

(B) Unitary state

(C) Union of the state

(D) None of these

85. Who said, "Indian Constitution is Quasi-

Federal"?

(A) K.C. Wheare

(B) Dr. Ambedkar

(C) Dicey

(D) Karl Frederick

86. The soul of British Constitution is :

(A) Convention

(B) Dual Citizenship

(C) Separation of Power

(D) Recall

82. fuEufyf[kr ljdkjksa dh O;oLFkkvksa esa f}lnukRedrk

fdl ,d dk vko';d y{k.k gS \

(A) v/;{kh; O;oLFkk

(B) lalnh; O;oLFkk

(C) la?kh; O;oLFkk

(D) ,dkRed O;oLFkk

83. ^^dsUnz dks i{kk?kkr gks x;k gS vkSj nwjLFk {ks=

jDrghurk ls ihfM+r gSA** & ;g dFku fdldk

gS \

(A) tSfuXal

(B) Qkbuj

(C) okMZ

(D) vkWfLVu

84. Hkkjr ,d %

(A) la?kh; jkT; gS

(B) ,dkRed jkT; gS

(C) jkT;ksa dk la?k gS

(D) buesa ls dksbZ ugha

85. ;g dFku fdldk gS] ^^Hkkjrh; lafo/kku v)Z&

la?kh; gS**\

(A) ds-lh- Ogh;j

(B) MkW- vEcsMdj

(C) Mk;lh

(D) dkyZ ÝsMfjd

86. fczfV'k lafo/kku dh vkRek gS %

(A) vfHkle;

(B) nksgjh ukxfjdrk

(C) 'kfDr i`FkDdj.k

(D) izR;kokgu~
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87. Who really uses the Power of Crown in

Britain ?

(A) People

(B) Parliament

(C) Council of Ministers

(D) Prime Minister

88. Which one of the following is a feature of

British Constitution ?

(A) Presidential Government

(B) Federal Government

(C) Rule of Law

(D) People's Court

89. Which of the following is a judicial review

in England ?

(A) Parliamentary legislation

(B) Executive Decisions

(C) Delegated legislation

(D) None of the above

90. House of Lords include which kind of

peers ?

(A) Life peers

(B) Hereditary peers

(C) Spiritual peers

(D) All of the above

91. Women in England got franchise on equal

terms with men in :

(A) 1928

(B) 1940

(C) 1960

(D) 1972

87. fczVsu esa okLrfod :i esa lezkV dh 'kfDr;ksa dk

iz;ksx dkSu djrk gS \

(A) turk

(B) laln

(C) efU=ifj"kn

(D) iz/kkuea=h

88. fuEufyf[kr esa ls dkSu&lh ,d fczfV'k lafo/kku

dh fo'ks"krk gS \

(A) v/;{kkRed 'kklu

(B) la?kkRed 'kklu

(C) fof/k dk 'kklu

(D) tuoknh U;k;ky;

89. baXyS.M esa fuEufyf[kr esa ls fdldk U;kf;d

iqujkoyksdu gksrk gS \

(A) lalnh; fo/kk;u

(B) dk;Zikfydk ds fu.kZ;

(C) iznRr fo/kk;u

(D) mi;qZDr esa ls dksbZ ugha

90. ykMZ lHkk esa fdl rjg ds ih;j 'kkfey gSa \

(A) vkthou ih;j

(B) oa'kkuqxr ih;j

(C) vk/;kfRed ih;j

(D) mijksDr lHkh

91. baXyS.M esa efgykvksa dks iq#"kks a ds cjkcj

erkf/kdkj feyk :

(A) 1928 esa

(B) 1940 esa

(C) 1960 esa

(D) 1972 esa
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92. Who is called the key-stone of the cabinet

arch in a parliamentary system ?

(A) President

(B) Chief Justice

(C) Prime Minister

(D) Speaker of the Lower House

93. Parliamentary form of Government is

practiced in :

(A) India

(B) Britian

(C) Both (A) and (B)

(D) None of these

94. In Parliamentary system head of the state

is :

(A) Read Head

(B) Nominal Head

(C) Executive Head

(D) None of these

95. A feature which is present in the

presidential system but not in the

parliamentary system, is :

(A) Distinction between real and

nominal executive

(B) Fixed term of cheif executive

(C) Formation of executive from

amongst the members of the

legislature

(D) Responsibility of the executive to

the legislature

92. lalnh; 'kklu iz.kkyh esa dSfcusV vkpZ dk

dhLVksu fdls dgk tkrk gS \

(A) jk"Vªifr

(B) eq[; U;k;k/kh'k

(C) iz/kkuea=h

(D) fuEu lnu dk v/;{k

93. lalnh; 'kklu O;oLFkk ik;h tkrh gS %

(A) Hkkjr esa

(B) fczVsu esa

(C) nksuksa (A) vkSj (B) esa

(D) fdlh esa Hkh ugha

94. lalnh; 'kklu iz.kkyh esa jkT;k/;{k gksrk gS %

(A) okLrfod iz/kku

(B) ukeek= dk iz/kku

(C) dk;Zdkjh iz/kku

(D) buesa ls dksbZ ugha

95. ,d y{k.k tks v/;{kh; O;oLFkk esa gS fdUrq

lalnh; O;oLFkk esa ugha gS] og gS %

(A) okLrfod vkSj ukeek= dh dk;Zikfydk

esa izHksn

(B) izeq[k dk;Zikyd dk fu;r dk;Zdky

(C) fo/kkue.My ds lnL;ksa esa ls dk;Zikfydk

dk xBu

(D) dk;Zikfydk dk fo/kkue.My ds izfr

mRrjnkf;Ro

[P.T.O.]
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96. The Prime Minister of Britain is :

(A) Appointed

(B) Selected

(C) Nominated

(D) Elected

97. Shadow Cabinet is related with which

country ?

(A) U.S.A.

(B) China

(C) Britain

(D) Nigeria

98. What is the total number of seats in the

House of Commons ?

(A) 435

(B) 650

(C) 690

(D) 750

99. The term of the House of Commons in

England is :

(A) 2 years

(B) 4 years

(C) 5 years

(D) Not fixed

100. Who is the Prime Minister of UK at

present ?

(A) David Cameron

(B) Boris Johnson

(C) Tony Blair

(D) Clement Attlee

96. fczVsu dk iz/kkuea=h %

(A) fu;qfDr gksrk gS

(B) p;fur gksrk gS

(C) euksuhr gksrk gS

(D) fuokZfpr gksrk gS

97. 'kSMks dSfcusV ¼Nk;k efU=e.My½ dk lEcU/k fdl

ns'k ls gS \

(A) la;qDr jkT; vesfjdk

(B) phu

(C) fczVsu

(D) ukbthfj;k

98. gkml vkWQ dkWeUl esa lhVksa dh dqy fdruh

la[;k gS \

(A) 435

(B) 650

(C) 690

(D) 750

99. baXyS.M esa yksd lnu dk dk;Zdky gksrk gS %

(A) 2 o"kZ

(B) 4 o"kZ

(C) 5 o"kZ

(D) fu/kkZfjr ugha

100. orZeku esa ;w-ds- ds iz/kkuea=h dkSu gSas\

(A) MsfoM dSejku

(B) cksfjl tkWulu

(C) Vksuh Cys;j

(D) Dyhes.V ,Vyh
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Rough Work / jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA
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A D

A C D

B

A C D

A D

A C D
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